ELEC 105
Fundamentals of Electrical Engineering
Spring 2010
Selected Answers to HW #1
Remember to explain all answers.  You will not receive credit for merely repeating an answer given here.  When an answer is not given below, it is either because the solution is trivial or because disclosure of the answer would give away too much of the solution to the problem.
1.26
P = 694 W
1.29
cost = $55.56/kWh
1.37
ia not given; ic = 1 A; id = 4 A
1.39
ib = 2 A; id = 7 A; ie = 4 A; if = 6 A
1.43
vc = −1 V; vd = 12 V; ve = 8 V; vg = 2 V
1.44
ia = 2 A; ib = −2 A; ic = 1 A; id = 1 A

va = 10 V; vb = −6 V; vc = 4 V; vd = 4 V


power balance (not necessarily in the correct order):  4 + 4 + 12 − 20 = 0 (watts)

1.58
a.  R = 1 

b.  R = 0.125 
1.63
iR = 2 A

power balance (not necessarily in the correct order):  0 + 20 − 20 = 0 (watts)

1.65
Ix = 7.5 A
1.
yearly revenue = $1.36 billion
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